
 
 

www.hipointech.com.my 

 
 
 
 

LIST OF EQUIPMENT 
 

No. Description Quantity 
BOLT SIZE / LOW PROFILE TORQUE WRENCH 

1 RapidTorc, USA RTX-2 Low Profile Hydraulic Torque wrench (Max 
Torque: 1710 FtLBs) 

2 

2 RapidTorc, USA RTX-4 Low Profile Hydraulic Torque wrench (Max 
Torque: 3855 FtLBs) 

3 

3 RapidTorc,USA RTX-14 Low Profile Hydraulic Torque wrench (Max 
Torque: 13400 FtLBs) 

2 

4 Tentec, UK CD4 HTW drive cylinder (power unit) (max torque 3950 
ft/lbs /5355 Nm) 

2 

5 Tentec, UK CD8 HTW drive cylinder (power unit) (max torque 8630 
ft/lbs /11699 Nm) 

2 

6 Tentec, UK CD16 HTW drive cylinder (power unit) (max torque 
16600 ft/lbs /22503 Nm) 

2 

HEX INSERT LINKS 

7 RapidTorc/Tentec Hex insert link 1.7/8” 3 

8 RapidTorc/Tentec Hex insert link 2” 4 

9 RapidTorc/Tentec Hex insert link 2.1/8” 3 

10 RapidTorc/Tentec Hex insert link 2.3/8” 3 

11 RapidTorc/Tentec Hex insert link 2.5/8” 2 

12 RapidTorc/Tentec Hex insert link 2.1/2” 2 

13 RapidTorc/Tentec Hex insert link 3” 2 

14 RapidTorc/Tentec Hex insert link 3.1/8” 2 

15 RapidTorc/Tentec Hex insert link 3.3/8” 2 

16 RapidTorc/Tentec Hex insert link 3.5/8” 2 

17 RapidTorc/Tentec Hex insert link 3.7/8” 2 

18 RapidTorc/Tentec Hex insert link 4” 2 
 

SQ DRIVE HYDRAULIC TORQUE WRENCH 

19 RapidTorc/Tentec RT 25 Square drive (max 25890 Ftlbs) / SD 3 1" SQ Drive 2 

20 RapidTorc/Tentec RT 10 Square drive (max 11520 Ftlbs) / SD 7 1.1/2" SQ 
Drive 

2 

21 RapidTorc/Tentec RT 8 Square drive (max 8000 Ftlbs) / SD 20 2.1/2" SQ 
Drive 

2 

 
  



 
 

www.hipointech.com.my 

 
LIST OF EQUIPMENT 

 
No. 

 
Description Quantity 

HYDRAULIC BOLT TENSIONER 

22 RapidTorc/Tentec STS-2/CSTS no.2 Load Cell 24 

23 RapidTorc/Tentec STS-2 / CSTS no.21.1/4" adapter component 28 

24 RapidTorc/Tentec STS-2 / CSTS no.2 1.3/8" adapter component 28 

25 RapidTorc/Tentec STS-2 / CSTS no.2 1.1/2" adapter component 28 

    
26 RapidTorc/Tentec STS-4 Load cell / CSTS 9000 no.3 24 

27 RapidTorc/Tentec STS-4 / CSTS no. 3 1.3/4" adaptor component  24 

28 RapidTorc/Tentec STS-4 / CSTS no. 3 1.5/8" adaptor component  24 

29 RapidTorc/Tentec STS-4 / CSTS no. 3 1.7/8" adaptor component  24 

    

30 RapidTorc/Tentec PST-07 load cell / CSTS 9000 no.4 14 

31 RapidTorc/Tentec PST-07 / CSTS no. 4 2" adaptor component 24 

32 RapidTorc/Tentec PST-07 / CSTS no. 4 2.1/2" adaptor component 24 

    
HAND TORQUE PUMP 

33 RapidTorc/Tentec High Pressure Hydraulic Pump 4 

34 RapidTorc/Tentec 10,000 PSI Hose 4 

    

HAND TORQUE 

35 Hi-Force Manual Torque wrench  7 
 

SOCKETS 

36 RapidTorc/Tentec 1" Sq. Drive to 1.7/8" Sq Drive 10 

37 RapidTorc/Tentec 1 7/8" Sq. Drive to 2" Sq Drive 6 

38 RapidTorc/Tentec 2 1/8" Sq Drive and above 4 

BACKING SPANNERS 

39   7/8" AF to 1" AF 10 

40   1 1/8" AF to 1 3/8" AF 10 

41   1 3/8" AF and above 10 

 
  



 
 

www.hipointech.com.my 

TOOLS & EQUIPMENT 
 

  



 
 

www.hipointech.com.my 

TOOLS & EQUIPMENT 


